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INSTRUCTIONS

This paper consists of ONE task, in TWO paris (A and B), which requires you to discuss the impact
on biodiversity of a selected agricultural or horticultural production system. This will inciude the
management practices of a producer to mitigate any negative impacts.
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Name of your selected production system: 9 C{\Wj '%Ci“‘“"“ii’i}

A New Zealand example of declining biodiversity.
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Image source: http://iwww.landcareresearch.co.nz/__data/assets/image/0007/75553/kkk_24_framework_kiwifruit jpg
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Explain how agricultural OR horticultural productlon management practices have impacted on the

biodiversity: of the local environmient in New Zealand.

In your answer:

. discuss the economic factors that may have contributed to these practices, and the
negative social impacts of declining biodiversity resuiting from your selected agricultural or
horticultural production system

. give specific examples of the decline in local biodiversity due to intensification. of your

__selecteg agncu!tural or homcuftural production system..
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PART B

Justify a course of action that could be carried out by a producer o potentially mitigate the negative
impacts of the management practices on the:biodiversity of the local environment for your selected
agricultural or horticultural production system.

In your answer:
evaluate at least TWO courses of action
. include social and economic considerations.
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Merit exemplar for 91532 — 2016

Grade Score: M5

Question .
part Annotation

The candidate explained positive and negative environmental, social,
and economic impacts that production systems contribute to in relation
to biodiversity. The candidate evaluated the mitigation of negative

A+B X ) .
effects with at least one course of action. There was no course of action
justified over another, but the answer was well written and easy to
understand.
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